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Case2: (x,y)=(0,% 1) & (= 1,0) ( )
K=1 Kc 0, 0.01, 0.025, 0.1
Case Kc 0.45
( ) Kc
Qw Qr ( )dQ=Qw Qr
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Kc Casel Case?2
Koz Ke 0 0.21 0.21
0.01 0.31 0.33
19 32 0.025 0.35 0.37
Qr /Qw Kc# Kc 0.1 0.45 0.46
Case2 Kc# 90%
Kc
(Qw) (Qr) (dQ)
Casel;(x,y)=(0,+ 0.4)&(* 0.4,0) Case2;(x,y)=(0,% 1)&(= 1,0)
Kc Qw Qr dQ Qw Qr dQ
0 0.0767 0.0379 0.0389 0.0767 0.0529 0.0238
0.01 0.1448 0.0942 0.0507 0.1538 0.1411 0.0127
0.025 0.1728 0.1181 0.0548 0.1873 0.1720 0.0154
0.1 0.2379 0.1688 0.0691 0.2457 0.2248 0.0210
Qw /QWO (QWO Kec=0 ) Qr /QW
dQ/dQo dQo Kc=0
Casel Case?
Kc Qw /QWO Qr /Qw dQ /dQO QW /QWO Qr /Qw dQ /dQO
0 1 0.49 1 1 0.69 1
0.01 1.89 0.65 1.30 2.01 0.92 0.53
0.025 2.25 0.68 1.41 2.44 0.92 0.64
0.1 3.10 0.71 1.77 3.20 0.91 0.88
Kc=0.1 3
-2 Case2 Kc 0.1
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